EARAZROREIERT — 2 N—XBISY —F 20185108158 (B) 9mE%E3H

m FOY7LI>TE B2FAWM YR —HB ‘ [Rig] B8 ‘ [3eEms] — | & (B) 1600M B
[AE4£] 1% :350,000” ~ 23%&:81,000”  33%&:4500M  43%&:32,000MH .~ 57&:17,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— FER 41, 2-2 . — #EX (KiR)
i 6| FERYRNA— K 45 fit 1(4&)9 37.6 1 (5+o3s) e
Ly —3IUTL BN—F K= TADS
> : 4 5 | FEANE 1:42.0 1-1 37.9 — 4 471 | FEFB= (EERE)
21810 A A 56.0 () (45) *’R/EEHW—
R:77NVT57T B:F-—0OFbruday ry o aIEEMASH T avi

B 6 | $AHA 1:42.3 6-6 371 — 2 436 | HEEEH (EEME)
3155 N—=KIT7x7)— 54.0 2 LESEEPS

Qi ITO— B hTLANTLR O Ve 7xLT—

3 w 55 B4 | AKBE 1:42.6 8-4 37.5| — 10 409 | FEER (KR)
4R 4| 3ARVTTT 54.0 (1 3/) 4g |BMR
LA hk—L B:Eai—-T1—LT1 FER I
N — N AN EE 142, — . - ERA (BXE)
517|8| T N7 INY R 57 A ° | Oy | S0
L:TA=—T4FAF =% B:TLFhYay kY aEEHRRI T2 3 IR
5 4 o5 | EAE 1:42.8 7-7 37.6| — 8 484 | BEILEE] (BERE)
6 g Ev2—7417F— 56.0 (1 1/4) +3) IR
RV IFTIAL R BiRAT4THE—U> EILE3:
LAN= 4 — #Ho6 | WAEER 1:42.9 45 |38.0| — | 3 | 478 |AHEE (KR
71111 ) 56.0 (7E) +1) BEEET
LA LRk—L B:xA1TFTI ESae]
= S o e A £ 8 | BERRE 1:43.0 9-9 37.3| — 9 498 | FEEL= (BERE)
g8l8lg|ZNTRIN=4 - 5.0 (172) (+1) |EE—
L:€r/0704 BIHYAFILALR #"HBET7—L4
NN $ 5 | F|OR— 1:43.0 10-10 | 37.4| — 7 | 432 |HEEFE (KIR)
] > ARG 54.0 747 Cn | Bm=
R:TS5v 784K B:eIKIRKU—L FHESS
S =5 46 | BRMAE 1:43.2 5-8 82| — 5 463 | ==& (KiR)
o[z 7| *1>¥av7>07 5.0 (11/2) @) | @ TII S
XA oagHLyy B:A4yagI>h Elizte)
® 1—F—@EBIERL
13—7-—
2a=5"=
Jol=5r= 10,6,8,1,7,5,3,4,9,2
43—+ — 10,6,8,4,1,5,3,7,9,2
[ /N
B 6 150 714K 6-10 370M B 6-8 620 JEE 5-6-10 940M
B B 6 1204 5-6 180H B & 6-10 790 JEE 6-10-5 4,110
10 240M 5-10 500M B E 6-10 1,080
5 1209

ABICOVWTRDTEEERROODE. TR LIV,



